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M.A. (Final) Examination

ECONOMICS
. 1. (1) Define labour economics.
(Labour Economics)
99 AL o STTe! 1 R T
Paper : MAEC-07 (i) What do you mean by working population ?
Time : 3 Hours | [ Maximum Marks : 80 FETNE SHEE ¥ ST 31 a9 ¥ 2
Note — The question paper is divided into three Sections (iii) How is the productivity of labour measured ?
A, B and C. Write answers as per the given .
. . Explain.
instructions.
T .- W' Ao ‘et ‘e SR ‘| | muel | faifsa ') 9 H SACHA HI fFE YHER A SO € ?
Y% GUS & fEIITER SR % S St | BT Fif
Section—A 8x2=16 ‘ o
. (iv) What is Hidden Unemployment ?
(Very Short Answer Type Questions)
Note .— Answer all questions. As per the nature of the fodt g8 SRS 1 & 2

question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks. W & A hl TL Hifo |

MAEC-07/7 (1) T-206 TurnOver MAEC-07/7 (2) T-206

(v) Explain the meaning of automation.



(vi) Why is the demand for labour called derived 3. Describe the importance of informal sector in

demand ?
98 T T A= AT I el § 2

(vii) State any two objectives of trade unions.

developing countries.

fawmeie <9 # SHIU=Ie &9 & Hed 1 Jud

sfrs T & B @ AW T I |

(viii) When was the International Labour 4. Explain Carter's model of wage determination in
Organization established ? case of bilateral monopoly.
SRS 9\ TS &l 9T & §8 7

fguefa wwifer w1 fafa § wegd fHuRo & wee
Hied i A ShIfST |

Section-B 4x8=32
(Short Answer Type Questions)

Note :— Answer any four questions. Each answer should not 5. Why do wage rates vary ? Why are women's wages
exceed 200 words. Each question carries 8 marks. often less than men's wages ?
g —d o . .
(ST 30T 99) Toigd <0 H fumar =& St © 7 wfeenstt w ARl
e - fFel W TeE B IW AU M T WA T e TSRl ¥ wH A ¥ 2 T Hif
e 200 vl H Al w0 g we 6. Describe the main provisions of the Minimum

8 3TF W T
8 Wages Act, 1948.

2. Write a detailed article on the meaning, scope and

=AqH Aoy AfUEm, 1948 % Y@ WEHEl ® 0

importance of labour economics.
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7. What is the Disciplinary Code ? Why was there a Section—C 2x16=32

(Long Answer Type Questions)
need to make it ? What are the provisions made

Note .— Answer any two questions. You have to delimit
under this ? Describe them. your each answer maximum up to 500 words.
) Each question carries 16 marks.
STRTEATCH Hfedl 1 § 7 S8 oM St STawgehdl
Tus—H
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10. Define labour market. Also explain the main

3T TV HITSTT |

8. Critically evaluate the major provisions of the

Employees’ State Insurance Act, 1948. characteristics of Indian labour market.

g9 TR I GRS HINT | YR 99 SR i
yq@ fagoastt 1 o sy |

SATATAATCHh ‘-,_qui%'i I | 11. Explain the reasons responsible behind the inferior

FHARI T S\ &MEA, 1948 & UH@ IEEHl FH

‘ ‘ _ ' condition of agricultural laborers in India. Also
9. “As a vehicle for industrial peace, collective ) . ] )
give necessary suggestions to improve their

bargaining has no equal.” Elucidate. economic condition.

ard # FHfH safgewt w1 g9 feafd & 19 SarerE wRoi
] T RIS Y E AT At oY frufg #
FE e & T TR HIGY | YR T TEOVIF A AT

“sienfir wifd & @A & &9 H AMfed SRIERT hi
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12.

13.

Describe in detail the beginning, development,
importance and shortcomings of labour unionism
in India. Also tell the measures to strengthen the
labour unions.

IRA § oH THaE i Y&, foehme, Hew qen i
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Critically examine the decisions given by the
Supreme Court and the action taken by the
government regarding child labour in India.
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